
            A 

3,91 mm    =        m  ________________________ 

5460 dkg    =        q  ________________________ 

1,4 h 10 min  =        s  ________________________ 

156 h    =        d  ________________________ 

630 ml    =        hl      ________________________ 

0,00042 m3  =        mm3 ________________________ 

0,092 kg    =        mg  ________________________ 

58200 dl    =        mm3 ________________________ 

12,24 m/s    =        km/h________________________ 

123 km    =        cm  ________________________ 



 

            B 

6,2 d     =        min  ________________________ 

0,000 470 µg  =        q  ________________________ 

91656 s    =        h  ________________________ 

3,01 cm3    =        m3  ________________________ 

83 500 dm   =        km  ________________________ 

193 000 mg  =        t  ________________________ 

0,047 hl    =        ml     ________________________ 

907 m3    =        cl  ________________________ 

12,24 km/h  =        m/s  ________________________ 

2,8 kg +3,2 dkg  =        g  ________________________ 

 

 

 


